BORILLA oPORTS

CHIN UP RACK (10000294)




Nut: (M8)

AN

7 N
\ A/

X~

8x

Hex Bolt: (M8%55)

8x

Expansion Bolt

I ——

8 Sets

POORILLA GPORTS

Washer: (#8)

©

20x

Hex Bolt: (M8*50)

OO

4x

Cross bolt: (M8%30)

2X

Triangular knob: (M8)

2X

M




@z
S
%
NP0%
\\’\4 Vad
%

D

J

[e7
[T
O

(CQ
N
{

.‘?57

POORILLA GPORTS

Dimensions complete: 68 cm x 52 cm x 50 cm

Maximum loading: 200KG

®
®
50




1 ©) i

Washer (¢8) —-4PCS Hex Bolt (M8%50)—-4PCS

Y

Triangular knob: (M8)

Jensuetra],

(8IN) qouy

__@___ R o\ —-—-

058N
€C——=

(SIW) qouy JIeTnSuBTI]
0S8N 8¢
T—0




1
g ~

|

Hex Bolt (M8%55)—-8PCS

Cross bolt (M8*30)—-2PCS

Nut (M8) —8PCS Washer (#8) —16PCS




: . =

Expansion Bolt—-8 Sets




